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autonumout   On 1-2-01, BigCo gave 1,000 shares of its restricted stock to Karen. 
Karen’s cost of the stock is zero. 
On 1-2-01, BigCo stock was selling for $10 per share. 
Karen is not allowed to sell the stock until 1-2-04. 
If she resigns from her position with BigCo before 1-2-04, she must give the stock back to BigCo.  
In 2006, Karen will sell all of the stock for $70 per share. 

	Date
	Information
	Shares
	FMV-Share
	FMV-Total

	1-2-01
	Karen is given BigCo. Restricted Stock at no cost
	1,000
	$10
	$10,000

	1-2-04
	The restrictions on sale of the stock lapse
	1,000
	$30
	$30,000

	1-2-06
	Karen sells 1,000 shares at FMV
	1,000
	$70
	$70,000


What income is recognized by Karen in the following years?

	
	2001
	
	2004
	
	2006

	a.
	$0
	
	$30,000
	
	$40,000

	b.
	$0
	
	$0
	
	$70,000

	c.
	$10,000
	
	$20,000
	
	$40,000


autonumout  Repeat the preceding question. Karen makes a section 83(b) election

What income is recognized by Karen in the following years?

	
	2001
	
	2004
	
	2006

	a.
	$0
	
	$30,000
	
	$40,000

	b.
	$0
	
	$0
	
	$70,000

	c.
	$10,000
	
	$20,000
	
	$40,000

	d.
	$10,000
	
	$0
	
	$60,000


autonumout  On 1-2-06, Tammy received 1,000 shares of restricted stock in her employer when the stock was selling for $10 per share. She did not pay anything for the stock. 
Tammy is not allowed to sell the stock and keep the proceeds before 1-2-08, when the stock will be worth $19 per share.  
She will sell the stock for $25 per share on 1-2-10. 
In 2008, Tammy will recognize income of:

	a.
	$0
	b.
	$9,000.
	c.
	$10,000
	d. 
	$19,000
	e.
	$25,000
	


autonumout  On 1-2-06, Tammy received an option from her employer that entitles her to purchase 1,000 shares stock in the company for $10, anytime in 2007 through 2011. 
The stock is worth $10 on 1-2-06, and such options are not traded in the market. 
Tammy exercises her option to purchase 1,000 shares on 1-2-07, when shares have a FMV of $14. 
She is not allowed to sell the stock (other than back to the company at her cost) before 1-2-08, when the stock will be worth $19 per share. 
She will sell the stock for $25 per share on 1-2-10. In 2008, Tammy will recognize income of:

	a.
	$9,000 if this is a non-qualified option
	b.
	$9,000 if this is an incentive option.
	


autonumout  Big Corporation issued 1,000 SARs to Tammy on 1-2-06 when the stock was selling for $10 per share. She can exercise the rights anytime in the next five years. Tammy exercised 1,000 rights in 2007, when the stock was selling for $15 per share. How much income does Tammy recognize in 2007?

	a.
	$0
	b.
	$5,000.
	c.
	$10,000
	d. 
	$15,000
	e.
	$7,500
	


autonumout  On 1-2-01, HugeCo granted an ISO to Karen to buy 1,000 shares at $10 per share exercisable for 5 years.  
On 1-2-01, HugeCo stock was selling for $10 per share. 
In 2005, Karen exercises the ISO when the price is $20 per share. 
In 2006, Karen will sell all of the stock for $50 per share. 
What income is recognized by Karen in the following years?

	
	2001
	
	2005
	
	2006

	a.
	Zero
	
	$10,000
	
	$30,000

	b.
	Zero
	
	Zero
	
	$40,000

	c.
	$10,000
	
	Zero
	
	$30,000


